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I. Give the major product(s) for the following reaction (20%)
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Il. Give the major product(s) for the following reaction (30%)
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Ill. Choose the best reagent(s) for carrying out the following conversions from
the list provided below. Place the letter of the best choice in the blank.
Reagents may be used more than one (20%)

A. (i) CsHsMgBr, (ii) H;0" £ HSO,

B. 3 mol% (PhsP)4Pd G. benzophenone/THF
2Na,CO03, H,O/benzene H. Bry/NaOH

C. (i) NH20H, (i) H2SO4 I. (i) NH,0H, (i) (CH3CO),0
D. CrO3, H,S04, H,0 J. (i) BBrj (ii) H,0
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|V. Complete the synthetic sequence below by drawing the structures of the reaction.in
the boxes provided. (20 %)

NaOH NaOCHs
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" Give an example for each of the following name reactions (10%)

Simmons-Smith reaction

Baeyer-Villiger oxidation
Diels-Alder reaction
Friedel-Crafts acylation
Pauson-Khand reaction
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